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552 CTET/STET 2023 [CTET-2016]

Q. T xR A AT &l 39 HT-07 °§ 40% AT9F 9T
Sitehd AT g TAT 3Tohd T T 40% 2T <dT gl SHHT
SR/ a9 8:

Q. A person marks his goods at 40% above its cost
price and allows a discount of 40% on the marked

price. His loss/ge jt Is: (@) =1f/Loss, 16%

(b) s /@ T=1, no
loss/gain

(c) g1i°/Loss, 8%

(d) =r9/profit, 10%
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Q. Tf3 fhET THERR & TS F& HT T 390
T 9T GL 20% T ATH BIAT &, AT T Fl
AT o

Q. If by selling an article for 390, a
shopkeeper gains 20% then the costq) 3
price of article is: 3921

(2) X
323
(3) X
324
(4) X
325
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Q. STTA= Teh F&q T 394 o7 9 10% FH 9T

GEAT g Y T8% oI | 10% STTerh a¥ =T

2| IHHT ATH &

Q. Jatin buys an article for 10% less than its

value and sells it for 10% more than its (1) 22 (2/9)%
value, his gain is: (2) 22 (7/9)%
' (3) TAH 9 T

i

(4) 20%




=) 7k PRI AR L VE]  [CTET-2014]

Q. Tt3 10 FrEa AT 7 F7 o 8 Hraa i 9
fashd {o & FEL 31, Al ATH/ET Iia9rd 8:

Q. If the cost price of 10 candles is equal to

the selling price of 8 candles, then the

profit/loss percent is: (a) 20%

r+/profit
(b) 25%
gria/loss
(c) 25%
1/ profit
(d) 20%
gria/loss
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Q. ‘T e X T ' T3l &l T ge
T JTAqT AT 872

Q. 'Buy three get one free.' What is the
percentage of discount given herg(a) 25%

(b) 20%
(c)
28.56%

(d)
33.33%
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Q. T 15% =T 3T 15% T *T AaL 450
ARGLERE G i

Q. If the difference between 15% profit and
15% loss is 450, then the cost price is:
(1)
2,200
(2)R
1,200
(3)R
1,500
(4)R
2,000




@ ﬁlﬂ CTET/STET 2023 [UPTET-2019

Q.T10F6F T A FA TGLUSHLIB6H 4

S T H F9 9T Toha Iiaera grie gt ?
Q. What will be the loss percentage, if
bananas purchased 6 for 10 and sold 4

for X67? 1) 5%

(

(2) 20%
(3) 10%
(4) 6%
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Q. T Feagete? i T 980 H I I Ueh A I<h
6(2/3)% = g1+ It gl 98 9! fhad I Ha=
qTieh I 1T 8% ITH &l ?

Q. On selling a calculator for X 980 , a person

loses 6(2/3)%. For how much (in ) should he
sell it to gain 8% s

(1)
1132
(2)
1134
(3)
1240
(4)
1244




=) 174k 7 KAl AR AR L FE] (UPTET-23-01-2

Q. Ffe THET & T FF oI I+ (976
T T 3/2 g, TAvATH AT g Ta9rd &

Q. If cost price of an article is 3/2 of

its selling price, then profit or loss

percent is: (1) 33 (1/3)%
ard/Profit

(2) 33 (1/8)%
=t/ Profit

(3) 33 (1/8)%
griw/Loss

(4) 33 (1/3)%
griw/Loss
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Q. 20 FTELAT FT 7 oA, X TEAT * {9567 74

FAAL gl Ae ATH 25% &, TTX FTHATA @
Q. The cost price of 20 articles is equal to
the selling price of x articles. If the profit is
25%, then the value of x is: (a) 15

c) 18




=) 17 P R AR AR PE]  [UPTET-2018)

Q. T3 8 T &7 HF-HF 6 U o [AhT-ToT
FUEL g, AT ATH Ja90d &

Q. If the cost price of 8 pens is same as
the selling price of 6 pens, then the gain
percent Is:
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Q. T =ik &t fohared T 410 § @iaar g i< AT teharal

I FHT T T AAAT 2 | ThH H IH 15% T ATH TAT T
H 10% T T BT & | A1 TR Tall T 77 o7 &

Q. A man buys two books at 410 and sells both at
same price. One gives him a profit of 15% and another
a loss of 10%. The ggalagge of both books iS(:1) 2110, 2

260
(2) T 120, 2
290
(3) 2 180, 2
230
(4) =8 T FrS

et
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Q. fret a=g =7 sifeha 977 8,000 =. g, o

7,200 %. | =7 SITAT & | P& Iiaaq #4718 ?

Q. An article marked at Rs. 8,000 is sold

for Rs. 7,200. What is the discount

percentage? (A) 10%
= (B) 8%

(C) 12%

(D) 11-1%.
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Q. T TEE B awg 1 g, R arwatas gew =100 £,
10% @< sifehd F2ar gl a8 39 a&q 9% 10% FHI9T e aTeeh

I AT g, AT 399 a8 TE] Fohad &0 § o=
Q. A shopkeeper marks the price of an article whose
original price is Rs 100, increasing it by 10%. He sold
the article to the customer by paying 10% cigpy‘q'@@ion
on it, then for how much did he sell the artigie’s 1o

(c) ¥ 99
(d) =¥ & =T

el
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Q. A # § H9-97 FIT FqA- g7 T
Q. Which of the following statement is false?

(a) T = 3feha =7 - A L=/ Discount = Marked
Price — Selling Price

(b) e = % g7 - 7 g=a/ Discount = Selling Price
— Cost Price

(c) T = fasa I=7 - %7 g=a/ Profit = Selling Price —
Cost Price
(d) BT = /T T - /\

Selling price

eI Oss = Cost price -
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Q. UF i<k o TH =47 &, 810 § 99F< 10% =t
2l 3ol Tfe 98 39 %. 1035 H a=dT1 g, al 39
foha gfaera «7s7 T
Q. A man made a loss of 10% by selling a
radio for Rs 810 If he sells it for Rs.1035,
, R t’) (a)

L) 1) 20%
(b)
18%
(€)
25%
(d)

1LK0/

STE
T



=) {72717 CTET / STET 2023 STE

Q. T3 TR T G AT Hild 9 ATH T
I AT &1 SITAT g, v AT T erd
S TT?
Q. If the profit is tripled by doubling
the selling price, then the profit
(a) 66
percent will be; (2/3)%
(b) 100%
(c)
105(1/3)%

(d) 120%






